A#) 8:00~17:30 XD 845~1745 HZONWRE
BE) 8:30~18:00 /N 845~1645 RIR[R = £ £
845~1815 9.00~17.00 ; gf E _ 2 2 P9 P9
— 51551888 8:30~1 730 ZIE1E5] IE 5% = B |m
AG 900~16:00 s 2| 2|zl =| 5|5 5| i gl, &
Z8| A 800~T1:00 gl |/ |alm=sae| x| B|ls|S|R|Ng|lg
B R RREEE)| FLBISR TIEM0D (117D aiB elnlnlrlalt+a|lalala|Blm| 2R (5| n|k n
20| M T gﬁéxnn@ann@a
i|% |2 S NEIE I
2019 =3 11 B |E|E|2 ZIAlLlzl2|1|B]2|2
! | & = 8 8
25 B R EEBEEBE G MIEIAITIA| L
}IFEIR wlz(lile|e|x|z|5|2 &
o =|z|3 N }1\ }2\
J—Es ey a2 en iy 0w w | ®EUN Fur " = P ) | % ] = =
8 we) | TEFEOEAN |TEFEEAN "2 |00’ |88 | Ay |5y | Wabs (812|220 56 8 o |
18 FAR| @RI O |rovssn | nmeen U= = RN R 713 ([1]3]|10/O[O|O]| X
28(1) #2818 X |83l @5l B[R i NI 5321|1000 O] %
38(8) BEPR [ BERA| X | @RI | 1@3BI IR[R[R[ IR R[IR[R[IR[IR[O JO |O [O | O | X | X[ X | X
48(8) BB | RB| X |zoss|eaee W] K| 1% "[R4 1211 |1 |10]O|Of X | X
58(W) FRA| @RI | O |mmess| s W3 [ we[ K[ BR Kl |3 |1 [2]100O0|O[O]| X
68K spaRg/rECENs| TP | @B | O |mues| s S5 (F) U= 5 7N 84 (2[3]|14/O[O|O]| X
7B | Bl g Z2ET FD| @R O |mewwsn| s | FET @) | K| R A i K513 |2([2]100O0|O[O]| X
88@ Z2ZET FAR | @B | O |ssuss|wsuss S (@D KIS i3 Kl |3 |22 |10]O|O[O]| X
o8 (1) K| @8I X |weow=m|esss =1 s AR IR R 513|111 |10/0|0O|O]| X
108(8) BAPA | BER| X | BAPT | BAPA IR[IRR[ KRR [IR[R[IR[IR[O JO |O [O | O | X | X[ X | X
118(B) | BE£mEs/Z2e 58 FRF| O | sunson | mwwes 1818 Jid K714 1212 [14|O|1O|O| X
128 (W) |@uiis (R8/8570) FEA| BRI O || s 7y i Kle 1322100 O[O X
138K FDP | @RI O |memwn|meses R[N | IR K53 |1 [2]1000[O[O]| X
14BN | BBl & RFIWPwT | EDERI| O |memes| wewes| BT G U5 NEEIE K6 4|21 ]14/O|O[O]| X
158(&) ENEEERHES | OR | BRI | O |[wsses|msess| 325 (1) IR[IR NEE] 7323|1000 O]| X
168 (1) 28 [ #2B| X |x#oszs|eoes BR[| R|E| |K[H|7[4]3]1[14/O[O]|O| X
178(8) BAPR [ BERA| X | @RI | @5l IR IR R K| B[ R AR[IR[IR]|O |O |O [O | O | X | X[ X | X
188 (8) | BPstta/ okl FRF| O | mmsmal mrws BB | 5|k ®le |31 [2|10]O|0O|0O]| x
198 (W) PIERTIMBAESY [ ERA| BRI | O |mesws|mween| F (H) [ S| AR| R IR K53 |1 [2]100O0[O[O]| X
208K | RIXFE FP | @RI O |memwn|meses 2 R 6(2([1[3]|10/O[O]| X| X
21BN | BBl iR 3mBEZ PV | FD | @RI | O |mesen|miws U5 R RK|6 |3 |1 [2]100O0|O[O]| X
228(&) PR [ (@RI | O |msewa| s NV B 71323 |10/O[O|O]| X
23B8(1) AP | BAFR @51 | &3l IR IR R[ IR | B R R[IR[IR]| O JO |O [O | O | X | X[ X | X
2488 (1289 21p1e @3l | @zl @3l | @3l BIRMR[ RBIKR[AR[IKR[KR[S |2 |1 [O [10] X | X[ X | X
258 (B) (mate/Hisns/ 22wt FRF| O |mmumsws| mawse 18118 B AR Kle [3]1 |2 [10]O]1O|O| X
268 (W) | fZEREZHIRIIA FRA| BRI O |meuwn|mmses = IR[ IR K6 |3 |1 [2]10]O|O[O]| X
278K FD | @RI O |meewn|mssos N A RN RS D K531 [2]|100O0|O[O]| X
28B8(K) | BBl s i& FD| @RI O |meewn|meses NEH S | IR 6313|1000 ]|O]| X
208(&) FER|BRI| O | sonsumsn | s AR RIK| | 7|13 [2]2|10lO0|0O|0O]| X
308(1) 28 [ #B | X |weomsesee RR PEIRZN REN RS 53211 |10/O|0O|O| %
BBy N ®la 1|1 (2]0o|x|x]|x]|x
AB¥| EMmmB#® i == 4 4 0 1 1 t# B[ 9]|9|10[10] 9|19 9]10]|20 276| 25[ 25| 23] 0
30 B P B B P B 26|26 30| 29| 29 mene [ 10]10[10[10]10[10[ 10] 10|10 106
11/11 %%Pﬁﬂﬂn CAMD 11/25 HEWME/HERS
1 30~F158NHE 9 1 00~&81L
9 - OO~8h%L, - BEMEI= 9 15~HEHRSD
< SEEETE 9 : B0~HERSE
- IR A REERIZIEST B RE 10 : OO~ B EHE
- RO 11 : 30~{kE&
- TaPpEEIR 12 : BO~F&ENElR
11 1 30~{KE8

12 1 30~F1&EEER

11/18 HPFIBI=
9 : OO~&h1l,
FPIF=D (10: 165 T)
BPIFEO@ (11 : 305




1B 82 82 0K 0K = 8 2 (T OIX|X[O|O|O[O|O|O|X[O|O[O|O|O|X|O O|X|O[O|O|0[O[O 9
Ay oK T H RS P B R s kS Sk S wi| |2z
> T T BEEE RELNE D RE <= <[® HE
> 10 8 82 m H XB g (Slin|jrliejir| sl | B S[BE| 5 B(B BB B LB (B2 B2B BB =88 (o)
@ o 18 2 I H MBORS| K |E|L & B | LB (B|B|£[(B(EB|B|E[£R|FHFRIR(LELBR|FEL£|R| B[R] (Of b
) 2 {92 45 oI KB | KB BB BB s[5 BB B|=| ] | BR (BB =[5 |22 ¥ B=H (& o=
TR PR B D eK| 1€ K& Eas X s £ s KL o=
OB EE M [O| X[ X|X|O|O|O|O|X|X|O[O|O|X|O|X|X|O|O|X|O|O|X|X|O|O|O|O|O]| X ©
r#E . RIS IRSBEIMO|O| X[ X|O|O[O|O|O[X|O|O|O[O|O|O[X|O|O[X|O[O|X|X[O]O|O[O|O|O Q




AE) 800~1730 XD 845~1745 HZONISNHT prUwalEA
BE) 8:30~18.00 I\ 845~16.45 = =
CEj 845~1815 9§OO~:7§OO ; o . F’j g *ﬁ
— e S0 1600 Ele|e Qé zlzl= gl =l
ZH] A 800~T1:00 ANEE B EEREHEE
|’%ﬁﬁﬂéfeﬁéﬁ%| TAEBNSIR TIHI30D (1 3R Bk E T8 A[ T8t E == =]
= Slhs =] fil=s F"j
2019 s 11 AL 2150
PHER HEHEEE A HHE
B we | TEFECEAR) | TEFEEAN | MEABB o |v-| 2| |n 2 2ls) | S 20
18 mwws | 18K | R[] [ AR[ IR @)
28(%) el || | B IR[K] K] O A
38(B) el M| | B IKR[K| K] OB |X
48(8) RBR ®l |8 IR K] O IR | IR
58 (W) RS K| 4R | 5 @)
680K SURT/FETEHRE|SH (@) |neew NI @)
THK) | Emmsaig SE =ik T (@) | s N T I EY S @)
88 () =2EfT SH (@) | mrenn T | AR B | 4 @)
9l (%) EeER E=h R M| | R|IR[ O K] IR
108(8) i IR IR [ OR] AR 4R AR AR [ X A | 44
1188 | SEMABE/ZERE CEe | | O
1280 | B3I (R%5/MT ) e R R O
138 0K EETE R 18 IR O
148K | BBl & 2AFIPYT TERRIT (B | s IR = [ K] 1R O =)
158() EAZIREBHES 8 (B | B[R] 4R 1’ O
168 (1) e 7N il IR K] O IR IR
178(8) )zl M| | B IR[R] K| O X
188(8) | BPIEf=/ FakElE s M| | @)
198(W) gk I RAEE) 8H (B e 7N 7N O
208K | REFE e IR B8 [ 4| B @)
218K | Bl RE 3mRREZ (PM) s K] = [ AR] B8 O [
228(®) R S 7S O
238 (1) )zl | IR[R] K| O X
248(8)| 12801658 )zl || [R]R| O 7N
258 (B) |Mats/fisks/ 22w J— B o)
268 (W) | fERREZHRE miE NI @] I
278 0K) peTe IR B K| 18 O
288 (K | BT RIE sk K| IR [ =m (@) 7N
298 (&) R 7N [ IR O
308 (%) LR il B K| K] O JIK [ IR
180)], O
BT | 1 |%® 8|/9|10]9]|9|9]10]10 15l ko)
B P B & 29 |mews|11[11[11]11]11[11]11 11]11
11/11 %%Pﬁ“[in (AMD 11/25 BEWHE/HEWRS
1 30~11580hE 9 : 00~&81L
9 S O0~&B1l » BEMER 9 . 15~HHEHRED
< SEENETE 9 : BO~HHERE@
- RN REERZIEStERE 10 : OO~ EBEWHE
< RDRO 11 : 30~{AE8
- [t EEE 12 1 B0~F4BEER
11 30~{KE8

12 1 30~F1&5EE R

11/18 HBFIBI=
9 : OO~&h1l
BPIB=D (10
BPIEIz@ (11

1563F7T)
30T




